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9.4 

9x2- 49y² 
Factories 9x2- 49y? 

" (a) (3x+ 7y) (3x-7y) 
(c) (3x-7y) (3x-7y) 

1 

V7-2 

Jdant yiaT 2023-24 

(a) 

Rationalies the denominator of the following: 

(mforT-9) 

N7-2 

(a) 16 

3 

(b) (3x+7y) (3x + 7y) 

(b) 

(b) 2 

(d) None 

N7+2 

(16)3 | HH }T- Find the value of -

(16)34 

5 

(c) 4 

(c) V7+2 

(1) 

8 

V7-2 

o(d) 8 

qurf :7o 

V7+2 
3 

(1) 

() 

(1) 

() 

(P.T.O.) 

Hin
dust

an
kn

owled
ge.c

om
 



9.5 

9.6 

9.7 

9.8 

V.9 

9.10 

A.11 

I.12 

Every rational number is: 
(a) a natural number 
(c) a Real number 

Which is national number: 
(b) 0.1416 (a) 0.14 

5 
9 

(rfoTT-9) 

The decimal expression of 
(a) 0.15 

(a) v2 

GYHq yR 

3 V2x4 N2x 12,/32 qRIGT 

Arational number between V2 and v3 is: 

2° + 8° ayrar 

(3+ V3) (3� V3) qRIGT -
(3 + v3) (3� V3) is equal: 
(a) (3� N3) (b) v3 

6° 

2° + 8° 

(b) a Integer 
(d) a whole number 

(b) 1.5 

3 V2x4 N2x 12/32 is equal 
(a) V2 (b) 2 

60 
(a) 1 

JE4 4x+0.x° +0x5 +5x+7 
Degree of the polynomial of 4x 
(a) 4 (b) 5 (c) 3 

(c) 0.1416 

(b) 2 

is equal: 

(a) Non terminating decimals (b) Terminating decimals 
(c) Non-Terminating recurring (d) Non-Terminating Non-Recurring 

(b) 4 

5 

9 is: 

(c) 2 

(2 ) 

(c) 2+ V3 

(D) 0.4014001400014 

2 

(c) 12 V2 

- (c) 6 

(c) 12 V2 

(d) 0.555 

(d) 7 

(d) 6 

(d) 12 /32 

(d) 12/32 

EÊH -
+0.x° + Ox5 + 5x +7 is 

() 

(d) 3+ v3 

(1) 

(1) 

(1) 

(1) 

(1) 

(1) 

() 
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4.13 

9.14 

9.15 

9.16 

9.17 

9.18 

9.19 

N3 is a number 
(a) Rational Number (b) Irrational Number (c) Integer (d) Not 

yf a+ 

(a) 3 

7. 0 

If a+=2 then a? +=? 

(a) 0 

=2 G a+? 

(b) 2 

I. 1 

(a) x 

The Degree of zero polynomial is: 

The equation of X-Axis is: 
(a) x=0) y=0 

(90°-x) aI yRo 

1 

1 

(c) 0 

(a) only rectangle 
(c) any polygon 

(a) 1 

The complimentary of (90° -x) is: 
(b) 90° tx 

(b) 1 (c) any one natural number (d) Not defined 

The base of the pyramid is: 

(c) x+y=0 (d) x=y 

(b) 2 

(c) -x 

x=5,y=2 fAfyaI BA 

(d) 1 

(b) only triangle 
(d) None of these 

X=5, y=2 which of the following is the solution: 
(a) x-y=7 (b) x+y=7 

(d) None s i 

(d) None of these 

uft (3, 2) TÌANUT 3X-ky = 5 1 8Tt k=? 
If (3, 2) the solution of equation 3x-ky =5, then K=? 

(c) 3 

(1) 

(d) 4 

(1) 

(1) 

(1) 

() 

(1) 

(1) 

(c) x+2y=7 
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9.20 

9.1 

9.2 

V10xv15 is equal: 
(a) 6/5 (b) 5/6 (c)/25 

. 

G. 

(b) 

V10 x V15 RIAR 

(c) 
(d) 
(e) 
() 

Solved any five parts of the following: 
(a) Find the value of (2a +3b)3 

. 

. 

(a) 
(b) 

(c) 

(d) 

(rfor-9) 

(2a +3b) T HIT ^IT DIS| 

gUG-I (5x2 = 10) 

ajo (V5+V2) (3+2) HR 

The factor of expression (x?-25y2) 
Simplicity the expression (v5 +2) (3+ N2) 

m 

Solve any three parts of the following: 
Express 0.621 in the form plq 

Ifx=1, y=1, then 3x+ ay =6, Find the value of a 
On which Axis does the point (0, -9) lie? 

Coefficient of x in the expression of (x+3)3 

0.621 p/q 4 tfI 

0.46x0.46-0.36 x 0.36 

(d) 10 V5 

en 

m 

m3 

HH SIT ÁfI 
I 

(-)*()*(*) (*) 

If m+=3 then find the value of m4 

(4) 

1 
m3 

Evaluate the following using suitable identity: 
0.46 x0.46�0.36 x 0.36 

(1) 

(10) 
(2) 
(2) 
(2) 

(2) 
(2) 

(4x3=12) 
(4) 
(4) 

4) 

(4) 

Factrs-(-)×()()() 

yfx=1, y=1 i 3x+ay=6, a 
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A.3 

A4 

U.5 

. 

(c) 
(d) 

(p-512q) 

(a) 

4 

ax + by + c=0and find the value of a, bandc. 

(b) Prove that v3 -2 is irrational number. 

(b) 

5 
t oltor 3 a, b, c, h HH ^IT tGYI 

. 

4 
ear equation X-E -10= O in the form of 

(a) Express the linear equation X 

-10 = 0 chl ax + by + c=0 h 

Solve any one part of the following: 

Evaluate the following using suitable identity (102)3 

The factor of the expression (p-512q6) is 

Represent v2 on number line? 

5 

xy 
3= 2x + y + 

I. EY 6x5 + 5xt+11x9-5x2 + 2x +7 h 3x2-2x + 4 faHf 

Divide the polynomial 6xo + 5x4 + 11x3.-5x2+ 2x +7 by 
3x2-2x +4 

uft 3'=5= (75) a fZ hfÝr 

2 (x-3)-3 (y-1)=0 

2x + y 

Solve any one part of the following: 
(a) If 3=5= (75)3 then prove that: 

Xy 3 = 

0 

50 à 

(b) Find the four solution to the equation: 
2(x-3)-3(y- 1) =0 

(4) 
(4) 
(4) 
(4) 

(8) 

(8) 
(8) 
(8) 

(1x8=8) 

(8) 

(8) 

(8) 

(8) 
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